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Note : (i) This question paper has two sections ‘A’ and ‘B’. Every section has four
questions, attempt any five questions, at least two questions should be from
every section.

(i) All questions carry equal marks.

(iii) All the parts of a question must be answered together.
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SECTION - ‘A’
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(ii) = SASiR H HATBAT (integrate) B (x F GG H) ; 10
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(b) e“sinx

d
(i) 3% 2% +3xy? + 5= 0, 7 5 0T A | 10

0 2B v
(i) Determine the values of o, B and vy for matrix A = [a B -y }to be
a —B v
orthogonal matrix.
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Integraté the following exﬁféséions (with respect to x) :

(a) (x+9° SRR

(b e*°Ssinx

If x3 + 3xy? + 5 = 0, then find %xz

=t AR aeeE Fin 20
(a) 11001001,=7,

by 733;=72,

(¢) 10101,,=7

(dy ABCD, =7,

Trfeie @ afonfua T 3R 0 9% 9060 2% 10=20
(a) T N7 3T 3T9 T i 9

(b) Hepeish 3 I

Perform the conversion as given below :

(a) 11001001,=7?,,

(b) 753;=7,

() 10101,,="7

(dy ABCD =7,

Define the following and distinguish between them :

(a) Machine language and high level language.

(b) Compiler and interpreter.

fafir— wohR % Toetu-deity st foreioand =ar & 2 9T | 20
UF 512 WISl & 16 Fae wia v et ROM fau & =iter 3nmig i g7 Y 317 JHEmET | 20

What are the features of different types of flip-flops ? Explain.

Draw and explain the block diagram of ROM chip of 512 words of 16 bits per
word.

C++ W Iyatsy fafr= fgar Revde w gey | g #< | 10
Stacks 3¥ Queues i TRATHT L 31T Tk F 9T Y | 10
fafir= a1 <dshoT ah-ich W ==t Y | 10
T g21 1 I T U & GaT (heap tree) I 10

40453412895735962359573




i (i) Briefly discuss the different control statements available in C++.
(ii) Define Stacks and Queues and distinguish between them.

‘ (ii1) Discuss the various tree traversal techniques.

(iv) Create a heap tree using the following data :

i 404534 12895735962359573
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5. (i) e A S CeiRen T R ot 20
(i) TP GUEH ¥ SIS T TAGH § 7 FIRH! F G0 UBR F1 £ 2 F THEW T FH
{ 3Rt ¥ 7 fomdt T TR o W % 9 H ferar € == 10
(iii) U Ubersp o fafur=T wwor o & 2 UedeR WXt S i RO g 2 10
! (1)  Discuss in detail the various page replacement algorithms.

(i1) What do you mean by an editor ? What are various types of editors ? How are
they ditferent from each other ? Discuss in detail about any one type of editor.

1 (ii1) What are the different phases of a compiler ? What is the function of each

; phase ?
1 6. (i) NI o 3 Ry Wia yeyT e fFar @ & 2 geeEy | 20
‘ (i) T ulwanst ¥ Heifued e 71 & 20
] ’Trocess CPU | Priority | Arrival Time
Burst

Pl 19 1 0
j p2 11 5 8

P3 9 3 11

P4 7 1 12

P5 5 2 13
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for =t

-* (@) Th-ufica wag Sz =@ wd s

(@) W-uiea vema Facm (@fusan watisa 9eg sie) gen TRy Frefma = s
t) :

(M TS Ue (Fien aug 4 39 % ) fraiem
(@) = feufiee e anat vt wa FEee

VRA-13 3 [P.T.O.

Pk o, et o g P



(i) How virtual memory management is done in Operating System ? Explain.

(i) Following is the information relating to some processes :

Process | CPU | Priority rArrival Time
Burst
P1 19 I 0
P2 11 ] 5
P3 o I 3 | 1
P4 7 1 12
P5 5 l 2 13

Using the above information, compute the average waiting time for cach of the
following algorithms :

{a} Pre-emptive Shortest Job First Scheduling.

(b) Pre-emptive Priority Scheduling (Highest Priority is represented by
smallest number)

{c} Round Robin (with time quantum of 4 units) Scheduling.
(d) Non Pre-emptive First Come First Serve Scheduling.

7. (i) YIRS (relational) TeT IS it faivars w ==l w | 10
(i) et IR G E9 (normal forms) W fowaR @ =t ¢ | 20
(iii) DDL, DML 3R DCL e STurai &t 3 fagiuand & 2 10

(i) Discuss the features of relational data model.

(ii) Discuss in detail the first four normal forms.
(iii) What are the features of DDIL., DML and DCL query languages ?

8. (1) T O v & Zratae Hifean i faedme o o=l ®t | 20
(i) Efaa v ¥ anast I Aue € 9 Wi vl o fafies i ot seR 3w
ol WY | Hiaa WhI & o i SRy | 20

(i)  Discuss the features of any five types of transmission media.

(il} What do you mean by structured programming ? Discuss various constructs of
structured programming giving examples. Also give the advantages of structured
programming.
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